# CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

-	
DEPARTMENT:	Capital Improvements
AGENDA DATE:	October 16, 2018
CONTACT PERSON/PHONE:	Sam Rodriguez, City Engineer (915) 212-0065 Bruce D. Collins, Purchasing Director, 915-212-1181
DISTRICT(S) AFFECTED:	6
STRATEGIC GOAL: NO. 7:	Enhance and Sustain El Paso's Infrastructure Network
	of Solicitation No. 2018-1537 Additional Bus Bays at Mission Valley Transfer Center to RS INC. for an estimated award of \$856,744.62.
bays, on-street signs, electrical, perconstruction of pavement replacement installation of angle curb. It will also	ents to the existing Mission Valley Transfer Center which include two additional bus edestrian path/crossings and landscaping. The installation of three (3) canopies, not of the southern bus entrance and construction of pavement replacement to include a include the installation of perimeter wall matching existing; provide all necessary prep Metro and for real time display and the installation of benches.
	19, 2018 and June 26, 2018. The solicitation was posted on City website on June 19, tion was sent out on June 21, 2018. There were a total of seventy-three (73) viewers all from local vendors.
PROTEST	
No protest received for this requirement.  Protest received.	rement.
COUNCIL REPRESENTATIVE D Was a briefing provided?  Yes of If yes, select the applicable districtions.	r 🔯 No
District 1 District 2 District 3 District 4	

District 5
District 6
District 7
District 8
All Districts

#### **PRIOR COUNCIL ACTION:**

N/A

**AMOUNT AND SOURCE OF FUNDING:** 

Amount:

\$856,744.62

Funding Source:

2011 Transportation Certificates of Obligation

**BOARD / COMMISSION ACTION:** 

N/A

DEPARTMENT HEAD:

### COUNCIL PROJECT FORM (LOW BID)

Please place the following item on the REGULAR agenda for the Council Meeting of OCTOBER 16, 2018.

#### STRATEGIC GOAL: NO. 7 Enhance and Sustain El Paso's Infrastructure Network

Discussion and action on the award of Solicitation No. 2018-1537 Additional Bus Bays at Mission Valley Transfer Center to BLACK STALLION CONTRACTORS INC. for an initial term estimated award of \$856,744.62. This project will provide improvements to the existing Mission Valley Transfer Center which include two additional bus bays, on-street signs, electrical, pedestrian path/crossings and landscaping. The installation of three (3) canopies, construction of pavement replacement of the southern bus entrance and construction of pavement replacement to include installation of angle curb. It will also include the installation of perimeter wall matching existing; provide all necessary prep work for camera installation by Sun Metro and for real time display and the installation of benches.

Department: Capital Improvement

Award to: BLACK STALLION CONTRACTORS INC.

El Paso, TX

Item(s): Base Bid, Option 1

Initial Term: 150 Consecutive Calendar Days

Base Bid: \$828,477.62
Option 1: \$28,267.00
Total Estimated Award: \$856,744.62

Account No.: 190 – 4530 – 28330 – 580270– PCP09ST0020 Funding Source: 2011 Transportation Certificates of Obligation

District(s):

This is a low bid, unit price contract.

The Purchasing & Strategic Sourcing Department and Capital Improvement recommend to award as indicated to BLACK STALLION CONTRACTORS INC., the lowest responsive, responsible bidder, and that Veliz Company, LLC be deemed non-responsive due to not providing unit pricing.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

DATE: 9/25/2018

## Bid Tab Summary

#### 2018-1537 Additional Bus Bays at Mission Valley Transfer Center

	Contractor	Base Bid	Option 1	Total
1	Black Stallion Contractors Inc.	\$828,477.62	\$28,267.00	\$856,744.62
2	El Paso A. R. C. Electric, Inc.	\$918,204.37	\$7,580.00	\$925,784.37
3	Vistacon Ventures, LLC	\$919,680.06	\$12,218.68	\$931,898.74
4	Veliz Company, LLC	\$927,485.00	\$36,332.00	\$963,817.00
5	Spartan Construction of Texas, Inc.	\$1,035,205.96	\$22,542.88	\$1,057,748.84





	ITLE: ATE:		IONAL BUS BAYS AT MISSION VALLEY 1 8, 2018	RANSFER CENT	ER	BID NO: 2018-1537 DEPARTMENT: CAPITAL IMPROVEMENT						
					STALLION CTORS INC.	EL PASO A. R.	C. ELECTRIC, INC.		NSTRUCTION OF		//PANY, LLC	
				EL PA	ASO, TX	EL P	PASO, TX EL P		ASO, TX	EL PA	SO, TX	
				1	R 1 OF 5		R 2 OF 5	BIDDE	R 3 OF 5	BIDDER 4 OF 5		
				e de tratat e escapa et e els representats de la colonia	SE BID - UNI							
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	
1.	1	LS	EARTHWORK EXCAVATION	\$34,500.00	\$34,500.00	\$26,587.00	\$26,587.00	\$66,788.290	\$66,788.29	LEFT BLANK	\$82,406.00	
2.	1	LS	REMOVAL OF EXISTING BUILDING	\$5,750.00	\$5,750.00	\$30,000.00	\$30,000.00	\$6,071.660	\$6,071.66	LEFT BLANK	\$1,760.00	
3.	62	SY	REMOVAL OF EXISTING ASPHALT PAVEMENT	\$23.00	\$1,426.00	\$20.00	\$1,240.00	\$22.465	\$1,392.83 CONTRACTOR'S PRICE: \$1,392.84	LEFT BLANK	\$881.00	
4.	1,645	SY	REMOVAL OF EXISTING CONCRETE PAVEMENT	\$14.38	\$23,655.10	\$10.00	\$16,450.00	\$18.215	\$29,963.68 CONTRACTOR'S PRICE: \$29,963.66	LEFT BLANK	\$47,866.00	
5.	278	SY	REMOVAL OF EXISTING CONCRETE	\$14.38	\$3,997.64	\$22.50	\$6,255.00	\$18.822	\$5,232.52 CONTRACTOR'S PRICE: \$5,232.56	LEFT BLANK	\$8,091.00	
6.	609	LF	REMOVAL OF EXISTING CURB	\$3.68	\$2,241.12	\$3.40	\$2,070.60	\$6.679	\$4,067.51 CONTRACTOR'S PRICE: \$4,067.41	LEFT BLANK	\$3,208.00	
7.	246	LF	REMOVAL OF EXISTING MASONRY WALL	\$26.45	\$6,506.70	\$2.85	\$701.10	\$21.858	\$5,377.07 CONTRACTOR'S PRICE: \$5,377.06	LEFT BLANK	\$5,231.00	
8.	4	EA	REMOVAL/UPGRAD/RELACTION OF EXISTING SIGN	\$1,380.00	\$5,520.00	\$375.00	\$1,500.00	\$277.038	\$1,108.15	LEFT BLANK	\$160.00	
9.	12	SY	3 INCH HMAC/I INCH 2-SACK BACKFILL	\$172.50	\$2,070.00	\$185.00	\$2,220.00	\$128.150	\$1,537.80	LEFT BLANK	\$1,525.00	





BID T			IONAL BUS BAYS AT MISSION VALLEY 1 8, 2018	RANSFER CENT	ER	BID NO: 2018-1537 DEPARTMENT: CAPITAL IMPROVEMENT						
				CONTRA	STALLION CTORS INC. ASO, TX		C. ELECTRIC, INC.	TEX	NSTRUCTION OF AS, INC. ASO, TX	VELIZ CO	MPANY, LLC	
				BIDDE	R 1 OF 5	BIDDE	BIDDER 2 OF 5		R 3 OF 5		R 4 OF 5	
633176233 257766231				the second the free contract the second terms of the second	SE BID - UNI							
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	
10.	2,593	SY	10 INCH REINFORCED CONCRETE PAVEMENT	\$86.25	\$223,646.25	\$80.00	\$207,440.00	\$121.433	\$314,875.77 CONTRACTOR'S PRICE: \$314,876.45	LEFT BLANK	\$246,330.00	
11.	2,663	SY	5 INCH BASE COURSE	\$7.48	\$19,919.24	\$7.25	\$19,306.75	\$11.062	\$29,458.11 CONTRACTOR'S PRICE:\$29,459.18	LEFT BLANK	\$25,550.00	
12.	2,663	SY	10 INCH SCARIFIED SUBGRADE	\$4.60	\$12,249.80	\$2.75	\$7,323.25	\$2.251	\$5,994.41 CONTRACTOR'S PRICE:\$5,993.35	LEFT BLANK	\$6,247.00	
13.	1,169	LF	6 INCH MONOLITHIC STANDARD CRUB	\$10.35	\$12,099.15	\$9.00	\$10,521.00	\$16.053	\$18,765.96 CONTRACTOR'S PRICE:\$18,766.13	LEFT BLANK	\$13,711.00	
14.	60	LF	6 INCH STANDARD CURB	\$13.80	\$828.00	\$30.00	\$1,800.00	\$19.734	\$1,184.04 CONTRACTOR'S PRICE: \$1,184.06	LEFT BLANK	\$1,689.00	
15.	347	SY	4 INCH CONCRETE SIDEWALK	\$51.75	\$17,957.25	\$32.00	\$11,104.00	\$37.172	\$12,898.68 CONTRACTOR'S PRICE:\$12,898.65	LEFT BLANK	\$23,199.00	
16.	93	SY	4 INCH SALT FINISHED COLORED CONCRETE SIDEWALK	\$69.00	\$6,417.00	\$55.00	\$5,115.00	\$88.804	\$8,258.77 CONTRACTOR'S PRICE: \$8,258.79	LEFT BLANK	\$6,763.00	
17.	17	EA	ADA RAMP	\$1,092.50	\$18,572.50 CONTRACTOR'S PRICE: \$18,575.50	\$950.00	\$16,150.00	\$984.807	\$16,741.72	LEFT BLANK	\$18,941.00	
18.	2	EA	BUS STOP CANOPY SHELTER STRUCTURE	\$51,750.00	\$103,500.00	\$98,750.00	\$197,500.00	\$81,360.285	\$162,720.57	LEFT BLANK	\$112,854.00	





	ITLE:		IONAL BUS BAYS AT MISSION VALLEY	TRANSFER CENT	ER				BID NO: 2018-153	7	
BID D	ATE:	July 1	8, 2018	<del></del>		ļ			DEPARTMENT: CA	PITAL IMPROVE	MENT
					STALLION CTORS INC.	EL PASO A. R.	C. ELECTRIC, INC.	U	NSTRUCTION OF AS, INC.	VELIZ COI	MPANY, LLC
	98 (N. HS. 20)			EL P	ASO, TX	EL P.	ASO, TX	EL P.	ASO, TX	EL PA	SO, TX
				]}	R 1 OF 5	IJ	R 2 OF 5	BIDDE	R 3 OF 5	BIDDER 4 OF 5	
NAME (1997)				and the second s	ASE BID - UNI	Afficially and the state of the	and a second of the second of				
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
19.	1	EA	BRIO CANOPY CHELTER STRUCTURE	\$40,250.00	\$40,250.00	\$108,570.00	\$108,570.00	\$85,033.280	\$85,033.28	LEFT BLANK	\$35,205.00
20.	4	EA	TRASH RECEPTACLE	\$1,725.00	\$6,900.00	\$1,125.00	\$4,500.00	\$1,339.578	\$5,358.31	LEFT BLANK	\$5,283.00
21.	6	EA	ARCHITECTURAL POTTERY	\$833.18	\$4,999.08	\$2,250.00	\$13,500.00	\$1,461.012	\$8,766.07	LEFT BLANK	\$7,924.00
22.	150	SF	4 INCH - 6 INCH ROCK MULCH, 6 INCH DEPTH, WEED FABRIC	\$3.94	\$591.00	\$1.73	\$259.50	\$3.036	\$455.40 CONTRACTOR'S PRICE: \$455.37	LEFT BLANK	\$265.00
23.	1,900	SF	SCREENINGS, 3 INCH DEPTH, WEED FABRIC	\$1.50	\$2,850.00	\$0.95	\$1,805.00 CONTRACTOR'S PRICE: \$1,813.55		\$2,306.60 CONTRACTOR'S PRICE: \$2,307.23	LEFT BLANK	\$1,850.00
24.	14	EA	4 INCH CALIPER TREES	\$1,035.00	\$14,490.00	\$1,118.95	\$15,665.30	\$728.599	\$10,200.39	LEFT BLANK	\$15,977.00
25.	32	EA	SHRUBS (1 GALLON)	\$11.50	\$368.00	\$13.80	\$441.60	\$15.786	\$505.15 CONTRACTOR'S PRICE: \$505.16	LEFT BLANK	\$451.00
26.	227	EZ	SHRUBS (5 GALLON)	\$28.75	\$6,526.25	\$28.75	\$6,526.25	\$26.715	\$6,064.31 CONTRACTOR'S PRICE: \$6,064.38	LEFT BLANK	\$8,122.00
27.	3	EA	2 FT X 2 FT BOULDERS	\$195.50	\$586.50	\$109.25	\$327.75	\$242.867	\$728.60	LEFT BLANK	\$335.00
28.	3	EA	3 FT X 3 FT BOULDERS	\$230.00	\$690.00	\$132.25	\$396.75	\$340.013	\$1,020.04	LEFT BLANK	\$405.00





BID T	ITLE:	ADDIT	IONAL BUS BAYS AT MISSION VALLEY	RANSFER CENT	ER				BID NO: 2018-153	7	
BID D	ATE:	July 1	8, 2018						DEPARTMENT: CA	PITAL IMPROVE	MENT
				1	STALLION CTORS INC.	EL PASO A. R.	C. ELECTRIC, INC.	1	NSTRUCTION OF AS, INC.	VELIZ CO	MPANY, LLC
nice Alix				EL PA	ASO, TX	EL P	ASO, TX	EL P.	ASO, TX	EL PA	SO, TX
2000 (200 (2000 (2000)				1)	R 1 OF 5		R 2 OF 5	BIDDE	R 3 OF 5	BIDDE	R 4 OF 5
					SE BID - UNI						
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	(QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
29.	3	EA	4 FT X 4 FT BOULDERS	\$310.50	\$931,50	\$155.25	\$465.75	\$461.447	\$1,384.34	LEFT BLANK	\$511.00
30.	1	LS	IRRIGATION SYSTEM	\$18,630.00	\$18,630.00	\$16,071.25	\$16,071.25	\$14,571.990	\$14,571.99	LEFT BLANK	\$19,909.00
31.	4	EA	RELECTORIZED PAVEMENT MARKINGS TYPE I (W) (BUSES ONLY DO NOT ENTER)	\$2,300.00	\$9,200.00	\$300.00	\$1,200.00	\$546.450	\$2,185.80	LEFT BLANK	LEFT BLANK
32.	370	LF	RELECTORIZED PAVEMENT MARKINGS TYPE I (W) (24") (SOLID)	\$9.20	\$3,404.00	\$2.75	\$1,017.50	\$6.072	\$2,246.64 CONTRACTOR'S PRICE: \$2,246.52	LEFT BLANK	\$19,895.00
33.	1	EA	NEW STREET SIGN AND POST	\$805.00	\$805.00	\$2,500.00	\$2,500.00	\$489.550	\$489.55	LEFT BLANK	\$1,845.00
34.	1	LS	ELECTRIC DEMOLITION	\$1,955.00	\$1,955.00	\$1,500.00	\$1,500.00	\$1,457.200	\$1,457.20	LEFT BLANK	\$17,060.00
35.	1	L\$	LIGHTING AND POWER CIRCUITS (CONDUIT AND WIRE)	\$34,500.00	\$34,500.00	\$30,000.00	\$30,000.00 CONTRACTOR'S PRICE: \$36,300.00	\$23,072.320	\$23,072.32	LEFT BLANK	\$31,666.00
36.	6	EA	POLE MOUNTED LIGHTS WITH FOUNDATIONS	\$8,625.00	\$51,750.00	\$9,500.00	\$57,000.00	\$15,543.457	\$93,260.74	LEFT BLANK	\$49,259.00
37.	21	EA	CANOPY LIGHTS	\$1,725.00	\$36,225.00	\$825.00	\$17,325.00	\$242.867	\$5,100.21 CONTRACTOR'S PRICE: \$5,100.20	LEFT BLANK	\$30,494.00





BID 1	ITLE:		TONAL BUS BAYS AT MISSION VALLEY	RANSFER CENT	ER	BID NO: 2018-1537						
BID [	ATE:	July 1	8, 2018	,				y	DEPARTMENT: CA	PITAL IMPROVE	MENT	
				il .	STALLION CTORS INC.	EL PASO A. R.	C. ELECTRIC, INC.	ii .	NSTRUCTION OF AS, INC.	VELIZ CO	/IPANY, LLC	
				EL PA	ASO, TX	EL P.	ASO, TX	EL P.	ASO, TX	EL PA	so, tx	
				BIDDER 1 OF 5		BIDDE	BIDDER 2 OF 5		R 3 OF 5	BIDDE	R 4 OF 5	
11.100 (1.2 M2011111111111111111111111111111111111		nasaugyak		B <i>F</i>	SE BID - UNI	T PRICE SCI	HEDULE:					
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	
38.	1	LS	LIGHTING CONTROLS	\$3,795.00	\$3,795.00	\$1,500.00	\$1,500.00	\$4,250.160	\$4,250.16	LEFT BLANK	\$3,519.00	
39.	1	LS	DIRECTIONAL BORINGS	\$9,200.00	\$9,200.00	\$5,000.00	\$5,000.00	\$6,071.660	\$6,071.66	LEFT BLANK	\$10,554.00	
40.	1	LS	COMMUNICATION CONDUITS AND BOXES	\$9,200.00	\$9,200.00	\$14,000.00	\$14,000.00	\$8,378.900	\$8,378.90	LEFT BLANK	\$9,383.00	
41.	1	LS	TRAFFIC AND PEDESTRIAN CONTROL BARRICADE	\$11,500.00	\$11,500.00	\$1,500.00	\$1,500.00	\$18,214.990	\$18,214.99	LEFT BLANK	\$22,149.00	
42.	750	LF	7 FT HIGH TEMPORARY CONSTRUCTION CHAIN LINK FENCE	\$17.25	\$12,937.50	\$3.00	\$2,250.00	\$35.216	\$26,412.00 CONTRACTERS PRICE: \$26,411.7	LEFT BLANK	\$1,163.00	
43.	1	EA	CONSTRUCTION EXIT (S)	\$4,025.00	\$4,025.00	\$4,500.00	\$4,500.00	\$2,428.670	\$2,428.67	LEFT BLANK	\$1,760.00	
44.	10	LF	SILT SOCK	\$34.50	\$345.00	\$75.00	\$750.00	\$7.286	\$72.86	LEFT BLANK	\$4,274.00	
45.	750	LF	SILT FENCE	\$4.03	\$3,022.50	\$3.50	\$2,625.00	\$3.643	\$2,732.25	LEFT BLANK	\$1,900.00	
						\$874	,480.35	\$1.02	5,205.96	\$907	570.00	
	BASE BID (ITEMS 1 THROUGH 45)			\$790	,532.08		-		0,203.30 PRICE: \$1,025,825.04	· '	i	
M	MOBILIZATION (NOT TO EXCEED 5% OF BASE BID)			\$37,945.54			\$43,724.02 CONTRACTOR'S PRICE: \$44,039.41		000.00	\$19,915.00 *BOND		
	SUM TOTAL (BASE BID AND MOBILIZATION)			\$828,477.62		\$918,204.37 CONTRACTOR'S PRICE: \$924,827.56		\$1,035,205.96 CONTRACTOR'S PRICE: \$1,035,825.04		\$927,485.00 .04 CONTRACTOR'S PRICE: \$924,485.00		





BID T			TIONAL BUS BAYS AT MISSION VALLEY T 8, 2018	TRANSFER CENTER		BID NO: 2018-1537 DEPARTMENT: CAPITAL IMPROVEMENT					
301 (30) (30) (30) (31) (30) (31) (32) (31) (32)				BLACK STALLION CONTRACTORS INC.		EL PASO A. R.	C. ELECTRIC, INC.		NSTRUCTION OF AS, INC.	VELIZ COI	MPANY, LLC
					ASO, TX	l	EL PASO, TX		ASO, TX		SO, TX
		00.0	TION 4 (Addistanta Davissa)		R 1 OF 5	l	R 2 OF 5	l	R 3 OF 5		R 4 OF 5
3000000	(1841890) (18476)	- UP	TION 1 (Addition to Pavement								
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
1	424	SY	FUR EXISTING SUBGRADE SUILS WHIT PI > 18: 8 INCH CEMENT STABILIZED SUBGRADE AS SHOWN ON PLANS	\$51.75	\$21,942.00	\$7.50	\$3,180.00	\$43.716	\$18,535.58 CONTRACTOR'S PRICE:\$18,536.57	\$0.00	\$31,900.00
2.	550	SY	FOR EXISTING LOOSE SUBGRADE SOILS: TRI-AX 5 GEOGRID AS SHOWN ON PLANS	\$11.50	\$6,325.00	\$8.00	\$4,400.00	\$7.286	\$4,007.30	\$0.00	\$4,432.00
	SUM TOTAL OPTION 1 (ITEMS 1 THROUGH 2)		\$28,267.00		\$7,	580.00	\$22,542.88 CONTRACTOR'S PRICE \$22,542.87		\$36,332.00		
AME	ENDMENTS NO. 1,2 ACKNOWLEDGED:		YES		YES		YES		YES		
BID E	BOND SUBMITTED		YES		YES		YES		YES		





BID T	TITLE: ADDITIONAL BUS BAYS AT MISSION VALL DATE: July 18, 2018			RANSFER CENT	ER	BID NO: 2018-1537					
BID D	ATE:	July 1	8, 2018						DEPARTMENT: CA	PITAL IMPROVE	MENT
				VISTACON V	ENTURES, LLC						
				EL PA	ASO, TX						
AND CHILD					R 5 OF 5						
granista Propinsion					SE BID - UNI				Mitaling (1951) i Tyrologo Yoshii		
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
1.	1	LS	EARTHWORK EXCAVATION	\$75,900.00	\$75,900.00				***		
2.	1	LS	REMOVAL OF EXISTING BUILDING	N/A	N/A						
3.	62	SY	REMOVAL OF EXISTING ASPHALT PAVEMENT	\$15.00	\$930.00						
4.	1,645	SY	REMOVAL OF EXISTING CONCRETE PAVEMENT	\$28.53	\$46,931.85						
5.	278	SY	REMOVAL OF EXISTING CONCRETE	\$28.53	\$7,931.34						
6.	609	LF	REMOVAL OF EXISTING CURB	\$5.16	\$3,142.44						
7.	246	LF	REMOVAL OF EXISTING MASONRY WALL	\$20.84	\$5,126.64						
8.	4	EA	REMOVAL/UPGRAD/RELACTION OF EXISTING SIGN	\$250.00	\$1,000.00						
9.	12	SY	3 INCH HMAC/I INCH 2-SACK BACKFILL	\$124.58	\$1,494.96						





BID T	ITLE:	ADDIT	TONAL BUS BAYS AT MISSION VALLEY	RANSFER CENT	ER				BID NO: 2018-1537	7	
BID D	ATE:	July 1	8, 2018						DEPARTMENT: CA	PITAL IMPROVE	MENT
				VISTACON V	ENTURES, LLC						
					ASO, TX		:				
âr, viện					R 5 OF 5		TENTILE.				
					SE BID - UNI			LIMITOD	TOTAL ABSOLUT	ing page principles.	TOTAL AMOUNT
TEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	(QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
10.	2,593	SY	10 INCH REINFORCED CONCRETE PAVEMENT	\$112.50	\$291,712.50						
11.	2,663	SY	5 INCH BASE COURSE	\$9.40	\$25,032.20 CONTRACTOR'S PRICE: \$25,050.84						
12.	2,663	SY	10 INCH SCARIFIED SUBGRADE	\$3.00	\$7,989.00						
13.	1,169	LF	6 INCH MONOLITHIC STANDARD CRUB	\$19.55	\$22,853.95						
14.	60	LF	6 INCH STANDARD CURB	\$18.30	\$1,098.00						
15.	347	SY	4 INCH CONCRETE SIDEWALK	\$48.30	\$16,760.10						
16.	93	SY	4 INCH SALT FINISHED COLORED CONCRETE SIDEWALK	\$54.00	\$5,022.00						
17.	17	EA	ADA RAMP	\$850.00	\$14,450.00						
18.	2	EA	BUS STOP CANOPY SHELTER STRUCTURE	\$42,800.00	\$85,600.00						





BID T			IONAL BUS BAYS AT MISSION VALLEY 1 8, 2018	RANSFER CENT	ER				BID NO: 2018-153		MENT
ви и	AIE:	July	6, 2016	EL PA BIDDE BA UNIT BID PRICE	ENTURES, LLC  ASO, TX  R 5 OF 5  ASE BID - UNITOTAL AMOUNT (QUANTITY X UNIT	PRICE SCI	TEDULE:  TOTAL AMOUNT (QUANTITY X UNIT	UNIT BID PRICE	TOTAL AMOUNT	UNIT BID TOTAL AMOU PRICE (QUANTITY X U	
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	(IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	(IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	(IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	(IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
19.	1	EA	BRIO CANOPY CHELTER STRUCTURE	\$21,400.00	\$21,400.00						
20.	4	EA	TRASH RECEPTACLE	\$1,392.25	\$5,569.00 CONTRACTOR'S PRICE:\$5,589.00						
21.	6	EA	ARCHITECTURAL POTTERY	\$1,620.15	\$9,720.90 CONTRACTOR'S PRICE:\$9,720.00						
22.	150	SF	4 INCH - 6 INCH ROCK MULCH, 6 INCH DEPTH, WEED FABRIC	\$3.85	\$577.50						
23.	1,900	SF	SCREENINGS, 3 INCH DEPTH, WEED FABRIC	\$2.10	\$3,990.00						
24.	14	EA	4 INCH CALIPER TREES	\$1,127.30	\$15,782.20 CONTRACTOR'S PRICE:\$15,778.00						
25.	32	EA	SHRUBS (1 GALLON)	\$21.00	\$672.00						
26.	227	EZ	SHRUBS (5 GALLON)	\$45.00	\$10,215.00						
27.	3	EA	2 FT X 2 FT BOULDERS	\$200.00	\$600.00						
28.	3	EA	3 FT X 3 FT BOULDERS	\$250.00	\$750.00						





BID T	ITLE: ADDITIONAL BUS BAYS AT MISSION VAL ATE: July 18, 2018			RANSFER CENT	ER				BID NO: 2018-1537	7	
BID D	ATE:	July 1	8, 2018						DEPARTMENT: CA	PITAL IMPROVE	MENT
				VISTACON V	ENTURES, LLC						
				ł	ASO, TX R 5 OF 5						
					SE BID - UNIT	PRICE SCI	4EDULĒ∙				
TEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
29.	3	EA	4 FT X 4 FT BOULDERS	\$300.00	\$900.00						
30.	1	LS	IRRIGATION SYSTEM	\$13,200.00	\$13,200.00						
31.	4	EA	RELECTORIZED PAVEMENT MARKINGS TYPE I (W) (BUSES ONLY DO NOT ENTER)	\$728.80	\$2,915.20						
32.	370	LF	RELECTORIZED PAVEMENT MARKINGS TYPE I (W) (24") (SOLID)	\$15.20	\$5,624.00						
33.	1	EA	NEW STREET SIGN AND POST	\$2,500.00	\$2,500.00						
34.	1	LS	ELECTRIC DEMOLITION	\$1,380.00	\$1,380.00						
35.	1	LS	LIGHTING AND POWER CIRCUITS (CONDUIT AND WIRE)	\$21,850.00	\$21,850.00						
36.	6	EA	POLE MOUNTED LIGHTS WITH FOUNDATIONS	\$14,400.00	\$86,400.00						
37.	21	EA	CANOPY LIGHTS	\$230.00	\$4,830.00						





BID TITLE:		ADDITIONAL BUS BAYS AT MISSION VALLEY TRANSFER CENTER				BID NO: 2018-1537					
BID DATE:		July 18, 2018		<u></u>		DEPARTMENT: CAPITAL IMPROVEMENT					
			VISTACON VENTURES, LLC								
				EL PASO, TX							
				BIDDER 5 OF 5		 T PRICE SCHEDULE:		<u> </u>			
	Ağı aşıyanı (d)				of any many his ata and a second to the same to				L TOTAL ABOUNT	* * * * * * * * * * * * * * * * * * *	TOTAL 1101NI
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
38.	1	LS	LIGHTING CONTROLS	\$4,025.00	\$4,025.00						
39.	1	LS	DIRECTIONAL BORINGS	\$10,200.00	\$10,200.00						
40.	1	LS	COMMUNICATION CONDUITS AND BOXES	\$7,935.00	\$7,935.00						:
41.	1	LS	TRAFFIC AND PEDESTRIAN CONTROL BARRICADE	\$23,250.00	\$23,250.00						
42.	750	LF	7 FT HIGH TEMPORARY CONSTRUCTION CHAIN LINK FENCE	\$6.50	\$4,875.00						
43.	1	EA	CONSTRUCTION EXIT (S)	\$1,350.00	\$1,350.00						:
44.	10	LF	SILT SOCK	\$15.00	\$150.00						
45.	750	LF	SILT FENCE	\$3.00	\$2,250.00						
BASE BID (ITEMS 1 THROUGH 45)				\$875,885.78 CONTRACTOR'S PRICE: \$876,002.22						·	
MOBILIZATION (NOT TO EXCEED 5% OF BASE BID)				\$43,794.28 CONTRACTOR'S PRICE: \$43,800.12							
SUM TOTAL (BASE BID AND MOBILIZATION)				\$919,680.06 CONTRACTOR'S PRICE: \$919,802.34							

Approved By: \_\_\_\_/s/\_\_\_ Date: \_\_\_7/20/18





BID TITLE: BID DATE:		ADDITIONAL BUS BAYS AT MISSION VALLEY TRANSFER CENTER July 18, 2018				BID NO: 2018-1537 DEPARTMENT: CAPITAL IMPROVEMENT					
				VISTACON VENTURES, LLC							
			EL PASO, TX BIDDER 5 OF 5								
OPTION 1 (Addition to Pavement			Substructu	re, bid item no	o. 11; Quant	ities to be det	ermined per	existing soil	conditions):		
ITEM #	APPRX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS, DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	UNIT BID PRICE (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) USE 2 DECIMALS. DO NOT ROUND
1	424	SY	FOR EXISTING SUBGRADE SOILS WHIT PI > 18: 8 INCH CEMENT STABILIZED SUBGRADE AS SHOWN ON PLANS	\$18.57	\$7,873.68						
2.	550	SY	FOR EXISTING LOOSE SUBGRADE SOILS: TRI-AX 5 GEOGRID AS SHOWN ON PLANS	\$7.90	\$4,345.00						
SUM TOTAL OPTION 1 (ITEMS 1 THROUGH 2)				\$12,	218.68						
AMENDMENTS NO. 1,2,3 ACKNOWLEDGED:				Y	ES						
BID BOND SUBMITTED				Y	ES						

#### Views

	(BID # 2018-1537)						
1	acosta, david	Veliz Construction					
2	acosta, german						
3	Allen, Miguel	Allen Concrete, Inc.					
4	ALLEN, STEVE	SPARTAN CONSTRUCTION					
5	Altmire, Kimberly	Bridgers And Paxton					
6	Andrea, Klinefelter	Kimley-Horn					
7	Arenivar, Miguel Angel	Santana contracting					
8	Austin, Fork	Wayne Enterprises					
9	Baca, Ricardo	El Paso Bid Deposito					
10	Banquil, Lovely						
11	Barron, Jerry	LBAndSons					
12	Boehm, Kellie	Stertil-Koni					
13	Chavarria, Brayan	Veliz Construction					
14	Cooper, Jacob	TGB Group, LLC					
15	Coppola, Laine	T.M.G.					
16	Counts, Tim	Accent Landscape Con					
17	Cruz, Luis	Quest Contracting, i					
18	Deal, Raquel	Blackstone saecurity					
19	Deg, Maria	Contractors Register					
20	DIAZ, RIBERTO	MRD LANDSCAPING					
21	Dodge, Montana	Dodge data and analy					
22	Estrada, Jose	Forterra Pipe And Pr					
23	Fraire, Julio	MFH Environmental Co					
24	Frenzel, Russ	Baldwin-Cox-Allen					
25	Gameros, Manuel	Gamboa Electric					
26	Gibson, Patty	construction Bid Sou					
27	Gilcrease, Paul	HUB International					
28	Gonzalez, Arturo	ECM International, I					
29	Guillermo, Ovies	J.A.R Concrete Inc.					
30	Gutierrez, victor	Performance Equipmen					
31	HARRISON, MIKE	DEL MAR CONTRACTING,					
32	Hernandez, Cecilia	The Planit Room					
33	Hessney, Steve	Bowen Industrial Con					
34	Hudson, Brad	Direx Construction,					
35	James, Hardison						
36	Johnson, Kesha	WTAGC					
37	Jorge, Ojeda	HAWK Construction					
38	koehn, peggy	Dodge Reports (aka D					
39	Kyle, Bellomy	ConstructConnect					
40	Ledesma, Erik	Traffic Control Spec					
41	Locascio, Megan	The Blue Book					
42	Lopez, Rafael	MIRADOR Enterprises,					
43	Luna, Hector	Black Stallion Contr					
44	martinez, avelardo	martinez irrigation					
45	matyear, william	matyear const. co.					
46	Medina, Mercedes	MIRADOR Enterprises,					

47	michell, Deborah	pmi
48	Michelle, Brody	Clean Energy
49	Mims, Valerie	Burke Insurance Grou
50	Molina, Cesar	Nine-Degrees Archite
51	Morris, Bryan	RBM Engineering, Inc
52	Olguin, Jeannette	Vitual Builders Exch
53	onvia, onvia	onvia
54	Ortiz, Cano	El Paso A.R.C. Elect
55	Paredes, Raul	Jobe Materials
56	Perez, gabriel	Beltran Group
57	Ramirez, Adrienne	Quantum Engineering
58	Reyes, Carlos	Martinez Bros. Contr
59	Rojas, Rojelio	Master Team USA IIc
60	Romero, Roberto	IMS
61	Ruiz, Erika	Vertex Contractors,
62	Silva, Basilio	Vistacon Ventures
63	Silva, Thomas	Advanced Security Co
64	Simms, Barry	Barry Simms Inc.
65	Sullivan, Rebecca	DS Integrators, LLC
66	Tarin, Manuel	Ztex Construction
67	Thompson, Maria	Steel Specialties In
68	Tsosie, Kimberly	Glenhasbah Renewable
69	Vazquez, Fernando	Corner Stone Cutting
70	Watson, Frank	

Cambridge Systematic

Hendee Enterprises I

Construction Reporte

71

72

73

Williamson, Wendy

Wilson, Yvonne

Wood, Jayne